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(f)  emwass) (ff/cm) EHERLH (@) emwavs) (ff/cm) (EHELH)
GA25ppm+FL2ppm  83.2 (*£6.4) 7.4 (£0.8) — — — —
GA25ppm+FL5ppm  79.7 (£3.0) 6.6 (%£0.3) 67.4 (£2.2) 5.8 (£0.2)

GA25ppm 60.1 (+3.6) 5.1 (+0.4) 49.5 (+2.5) 4.3 (+0.4)
KGA: YNV FLafV/a)V T z=any,

GA25ppm+FL2ppm GA25ppm+FL5ppm GA25ppm

X1 1[EHOY NV AR ORI a7 2= ARFIOIA
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@B X REE AR RE R (73
e (® (f#) (® (Brix) _ (g/100ml)
GA25ppm+FL2ppm  703.2 51.7 13.4 17.2 0.19
GA25ppm+FL5ppm  665.6 51.7 12.8 16.9 0.18
GA25ppm 606.7 47.3 12.8 18.5 0.14

KGA: VNV FLGEVIBNVT 2221y,
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